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Precalculus
Cum. ulative Review #3 Due:

Directions: Show all work for full credit. Correct answers without supporting
work will receive 1 credit.

1. The lengths of the sides of a triangle are 6 inches, 8 mches and 12 inches. Find
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2. Two surveyors are determining measurements to be used to build a bridge
across a canyon. The two surveyors stand 560 yds apart on one side of the
canyon and sight a marker on the other side of the canyon at anlges of 27° and
38° (measure to the canyon wall on the side of the canyon they are currently
standing). Find the length of the bridge if it built to the marker on the opposite

side of the canyon.

i<

“\[\ |l' i)lf) I:{‘K
! W2 A T
4 / 500 ) A [
e ( 500 sin I35
[ ’;/ x \\u X=- 0 Sin 3
74 « o ‘
¥ \ A Sin g
4 )Lf - Brighge: o A" A -
yas T K= 280yas
! i{ I.)_‘ZJ ‘ [
d D
& 9

!
3. Find the area of a sector if the central angle measures 105° and the radius of
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4a. A circular saw blade is rotating at 500 revolutions per minute. Find the \
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b. If the saw blade has a radius of 10 inches, find the linear velocity in feet per
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5. Find the value of x in the interval 0° < x < 360° for which sin x = g
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6. Determine the equations of the vertical and horizontal asymptotes, if any, of
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8. Determine the angular velocity if 84 revolutions are completed in 6 seconds.
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9. Given a central angle of 73°, find the length of the intercepted arc in a circle of
radius9inches. S =y e

=7 GNE) #15

10. Solve r/ight triangle ABCif a=15.1, b =19.5, and angle Cis a right angle.
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13. Find the value of x in the matrix equatlon below o S
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14. Find the inverse of [27 36]'
| S 3 T [‘“ sl |E
—_— ‘l'—’“ C,L = - 27 |- f1' | ;1_-7 = _?l‘
) -




%




